SOLUTIONS

Math 259 Winter 2009

Quiz #8

1. (a) (1 point) Use the axes given below to draw an accurate sketch of the region of the xy-
plane that is bounded by the' curves: y=2 and y = %xz.
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(b) (2 points) Set up an integral that will give the amount of volume that ties below the plane:
3x+2y-2z=0,

when the region of integration is the region described in Part (a).
Vo/ “ort -
Olum-e = f f
s Ly (3x+2y) dy dx
2
Also Correck Is:

Volume = f:fﬁ; :

- 2y

3x + 2y ) dx dy
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(c) (2 points) Evaluate the integral that you set up in Part (b) to calculate the volume beneath the
plane. Show all of your work. You should not use a calculator in this part of the problem for
anything besides simple arithmetic.
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2. (3 points) Evaluate the following double integral:

f]e‘xzdxdy _
0 vy

Show all of your work. NO WORK = NO CREDIT. You should not use a caiculator in this
part of the problem for anything besides simple arithmetic,

NOTE:

The diagram given below shows the region of integration for this particular
double integral (it is shaded). '
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(2 points) Evaluate the following double integral:

f}cos(f)dxdy_
0 %

Show all of your work. NO WORK = NO CREDIT. You should not use a calculator in this
part of the problem for anything besides simple arithmetic.

NOTE:

C.os(x3)dx dy
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The diagram given below shows the region of integration for this particular
double integral (it is shaded).

I+ 15 net Pass.'ble
4o fAnd an anti—
derivafkive for
cos(x?) with
r‘es.(;p_c«l- jo X Fhat
W' can express In

terms of efementary
fFunchons,

To evaluate +HAiIs
in%ﬁﬁr“a\l we will
change +he order
of in+a3rcx‘f’7‘°ﬁ«

2

= f‘ j-x co&(xa)dy dg

s} 0

[~}

1 x>
=/ [Y.CDJ(XB)] d x

[ _

f Xlrca‘s(‘xs\-dx
!

[’é" Sin(x’B)]o

"'3" Sin(i)_



